Q =S 7|8 E(K06-242)
4 062 129 174] ~ 062 13 174])

r\l
N
o
N
D

=

[20244 06 12 17A| 2E ]

=2
HL
e
oN
lot
o

-0 LY N2 &S -

210
> 7|70
O @5) ATATA) Sr3Ee =

g2 52 750 B2 7t2H &
ok
21

30| 6ktZ =11 UM, A2 10kmYLICt 25(122)2 Mol
AELCt

Ket n7|go] Sers &8Ot tid =2

O (LHE) Malfl&oM SZL 2 O|Fohs 7|2 Heks &Hot LM = BrRlS LT

ol Z|X/x[217]2 (O

(LHe) 18/32

> P 7|0
O (A1) LHZ(13) AALO] AI80] 4km Li2|= ZOFE M7 QUZ

A
&Lt
= It
AlZHE ZH|S o2
ECT TN askTojet | O ETEERDD LFEHSYE GooD | MEDIUM [ POOR
A 122 13
B 17 18 19 20 21 2 23 00 01 02 03 04
n
i N o N N
EZE/HE
(kt)
(18-36) =z 2 == == - - -, -, V V ty -,
ot £Z1 =1 ==l =1 =1 =21 =% 1 1 5311 =51
=i k] HHa 10 RS E:] HHE 10 3 HHE 10 ERES =, =6 o, HE6 H,HE6 I, E6 B, 36 o, tE6 H,HE6
233 3180 Z3180 3180 Z§180 3180 3350 3350 8350 E3:350 3350 8350 3350
IG(&S;T E£10 E410 E410 E4110 E£10 246 246 246 246 246 246 46
13y
05 06 o7 08 09 10 1 12 13 14 15 16
ZZ/HE
kt
b v W W W v
(18-36) ., 2o = - ., 2 X - - = =
Sl E =z == 1 == == == 1 == = =z 1 11
e 1S58 3,656 3, HiE6 3, HE6 3,36 3,36 3, HiE6 3, HE6 838 3, =8 =R ) E=R-Eor]
BB 2350 23350 231350 22350 2350 E:350 221350 22350 ET170 ET170 170 2170
JGUST E26 246 246 =46 56 246 246 =46 258 248 =48 =48
(kt)
X E2IZ/MH|ZEL OSHH k= S 2t o
XS5Z/8HE2 SE 320 e BrE

22 2|0fsiH, BHele ke O %

O HiAtd

KEL7]d L BEO| et RpMSH Atd2 257|878 ST 0| X|@mokmagoknOf Al 2ol = QU LICE

X Z=Al7| 2Ho| THEHR|, MBS Gl FAXHS 7} AT QS M= SAFZSH7| AN (TEL 052-289-0365 / FAX 052-288-2392) 2
LETA7] BRI




